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31700 | ¢~ 70 10, 152 1, 728 1, 404 1, 00| BP9 Th— 3R
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34400 | b= b 51 18, 929 486 486 216|BH 5lkg
34200 {Rg L 28 5, 464 216 184 184) BbA 28kg
34500 jB—= 1 : 2 405 270 270 270 BN 2kg
36600 |/l & 156 10, BO5 76 65| | 85! B 156ke
4764 | A FS v ' 140 52, 434 130 130 97! B 4657
34930 L v 87 13, 937 76 70 24| BN 2247K
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71286 | e —pa 4, 290 55 55 14| B P 8bA4%
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31950 |EiaE M _ 9 2, 268 756 756 56| RS 34— R
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36600 |mEhE 2L 70 2,376 43 32 32| RS T0kg
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37560 |3351T 1 3,564)  356] 366 356 A4y 10,5y
36400 |72 A5\ % C 7 1,663 238 238 238 | H % Tkg
41362 |V = —i— () 100 5, 724 864 324 324 |HEA 104 — A
44500 T H % 8 1,382 173 173 173 8kg
47470 |3 E Ay 15 3, 456 173 173 130|E )R & 2218
Y5006 (EB00 (B4 80 26, 784 3, 348 3,348 3, MBI I E BH— A
Y5006 [Z550 (B4h) 14 4, 363 218 218 21| EBIRE 2078y 2
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